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Run 5665 quartetwise, Asyms0 (Raw): All
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Run 5665 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5665 quartetwise, Asyms( (Raw): Beam ON, Laser OFF

guanchaiza baomi lasl asymd
— Entries BE24
— Mean -0.0288
2501 Std Dev 10.36
200 —
150 |—
100 —
B0 —
D_|||4| NN NN N N e NS
40 —-30 —20 -0 0 10 20 30 40
HelNSamples0}/{PosHelAced/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 27 630381}



Run 5665 quartetwise, Diffs0: All Run 5665 quartetwise, Diffs0: Beam OFF
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Run 5665 quartetwise, NegHelAccO/NSamples0: All
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Run 5665 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
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Run 5665 quartetwise, NegHelAccO/NSamples(: Beam OFF
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Run 5665 quartetwise, PosHelAccO/NSamplesC: All
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Run 5665 quartetwise, Sums0: All
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